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(1) VHDL
VHDL (VHSIC Hardware Description Language)

IEEE 1076-1987 IEEE 1164-1993

(2) VerilogHDL

VerilogHDL

OVI Open Verilog International 1995 IEEE-1364

(3) SFL

SFL Structured Function description Language NTT

SFL

PARTHENON PARTHENON

VHDL VerilogHDL SFL

entity halfadder is
port(
a, b : std_logic;
s, c: std_logic);
end halfadder;

architecture halfadder_body of half _adder is

begin
c <= a and b;
S <= a xor b;

end halfadder_body;

1 VHDL

IEEE

1993



module halfadder (s, c, a, b);

input a, b;
output s, c;
assign ¢ = a & b;
assign s = (a & ~b)|(~a & b);
endmodule
2 VerilogHDL

module halfadder {
input a, b;
output s, c;
instrin enable;

instruct enable par{
c=aé&hb;
s =(a&™]ad
}
}

}

b);

¥

SFL
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HDL

HDL

RTL HDL
HDL

VerilogHDL
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RTL

HDL
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module test halfadder;
reg a, b;
wire s, c;

halfadder ha (.s(s), .c(c), .a(a), .b(b));

initial
begin
a=0; b=
#10 a = 1;
#10 b =1
end

- endmodule

initial

5 VerilogHDL

10

10
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(CLB)
FPGA
FPGA
FPGA
FPGA Field Programmable Gate Array LSl
FPGA
LSl
LSl
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PICO

CPU FPGA
[2] 16bit RISC
PICO16
PICO16
Load Load/Store
6 PICO16
5 3 8
| OP Rd Immediate
5 3 3 5
R OP Rd Rs FUNC
5 11
J OP offsat
6 PICO16
oP
FUNC
Rd
Rs
immediate
offset
16bit 5bit 5bit



PICO ADD,SUB

7 ADD
ADD rl, r2 ri « rl+r2
ro\* o .
reg file ( ) 0 30 5
\\ //
+
ro rl r2 r7
/
reg file ( ) 0 35 5
7 ADD
7 ADD rl (30)
r2 (5)
rl (35)
PICO Load/Store LD
ST
8 LD
8 LD r2
(202 ) (102 ) (20)
rl

10



LD r1, (r2

ro ri r2 r7
reg file 0 20 102
N Vi
100 101 102 105
memory
8 LD
RISC
PICO16
ADDI,SUBI
8bit 16bit
9 ADDI
ADDI rl, #11111110 ri - ri+( 2
~
1111111111111110 ( )
ro ri / r2 r7
reg file ( ) 0 10 7
\
A4
+
ro ri / r2 r7
| 4
reg file ( ) 0 8 7
9 ADDI
9 (11111110)  16bit ri
(10) ri (8)

11



-

datain

dbus
pc >
red— reg >@—)
file
ez Y
A 1
GPJ >2 Z
- »3 X[ sbus2
Ir >4
5
»| mdr S
. mar
N addressout|__ | dataout ________________| _______
memaddin memdin
write — memory memdout
(
10
pc
ir
mar
mdr
alu
reg_file Dual Port
mux

12




10 sbusl
sbus2 alu alu dbus
alu alu
1 1
(1F) (RF) (EX,EX2)
11
IF ===)» RF
11
1. IF pc ir
2. RF ir
regl,reg2 alu pc
3. EX regl,reg2 alu dbus reg_file
reg2 ir LD
mar
4. EX2
IF RF
IF pc
( dbus ir
RF ir
regl,reg2

13



alu pc

ST mdr

EX ir

LD ST
mar
EX2 LD ST LD
ST
write
VerilogHDL
ALU
12

()
=

12

12
ALU ALU

14



(addsub16)

13 HDL

1 module addsubl6 (ina, inb, sub, sumdiff);
2
3 fadder fa0 (.a(ina[0]), .b(bb[0]), .c(subj; .so(sumdiff[0]), .co(c0));
4 fadder fal (.a(ina[1]), -b(bb[1]), .c(c0), .so(sumdiff[1]), -co(cl));
5
6 fadder fal5(.a(ina[15]), .b(bb[15]), .c(cl4), .so(sumdiff[15]), -co(cl5));
7
8 assign bb = (sub)? ~inb:
9 (~sub)? inb: 4%bx; ]*
10 endmodule

13 16bit HDL
3 6 16 16

8,9 sub
1 inb 3 sub( )

2 sub O
inb

15



14 ALU HDL

ALU

1 module alul6(ina, inb, com, y);
2
3 assign y = (com == 4"b0000)? ina: 3
4 (com == 4"b0001)? inb:
5 (com == 4"p0010)? ina & inb:
6 (com == 4"b0011)? ina | inb: \
7 (com == 4"b0100)? ina ~ inb:
8 (com == 4"b0101)? ~inb:
9 (com == 4"p1100)? inb << 1:
10 (com == 4"p1101)? inb >> 1: J
11 addsub;
12
13 addsubl6 asl16 (.ina(ina), .inb(inb), .sub(com[0]), -sumdiff(addsub));
14 endmodule

14 16bitALU HDL

10 com
(11 ) com com|[0]
(addsub16) (23 )
Dual Port
15 HDL
regq O addrl
doutl addr2 dout2
19 20 req 1 addrl
din

16




1 module reg file (addrl, addr2, din, doutl, dout2, req ,CLK ,RST);
2
3 assign doutl = (addrl == 3"b000 && req == 0)? register0: A
4
5 (addrl == 3"b111 && req == 0)? register7: "bx;
6 assign dout2 = (addr2 == 3"b000 && req == 0)? register0: >
7
8 (addr2 == 3"b111 && req == 0)? register7: "bx;
9 Y
10 always @(negedge CLK or negedge RST)
11 begin
12 if(IRST)
13 begin
14 register0 = 0;
15
16 register7 = 0;
17 end
18 else if(req)
19 case (addrl)
20 3"b000: register0 = din;
21
22 3"b111: register7 = din;
23 endcase
24 end
25 endmodule
15 Dual Port HDL
CAD Xilinx  Foundation ISE CAD
VerilogHDL 3
(1) BlockRAM
Foundation ISE Core Generator IP(Intellectual
Property)
FPGA
(2)
VerilogHDL

17



®3)

[2]
12
16
1 module bpicosim;
2
3 //assign memdout = (lwrite) ? {mem[memaddin & 8"b11111110],
4 | mem[memaddin | 8"b00000001]}:16"bx;
5 always @(negedge CLK)
6 if(write) begin
7 mem[memaddin & 8"b11111110] <= memdin[15:8];
8 mem[memaddin | 8"b00000001] <= memdin[7:0];
9  end
10 N e
11 bpico pico(.datain(memdout), .addressout(memaddin),
12 .dataout(memdin), .write(write), .CLK(CLK), .RST(RST))
13 initial
14 begin
15 $readmemb('memdata. txt",mem) ; €------ txt
16
17 #40000 $stop;
18 end

19 endmodule

16 HDL

16 write
0 memaddin memdout write 1
memaddin memdin

$readmemb txt

a )

18



HDL Model Technology ModelSim

Xilinx  Foundation ISE
ModelSim

17

“ e — datsult
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17 16'b0123 16'h4568
16'b468b memdin
2
2
7 12 56 28 72
24 37 175 86 220
CPI 3.43 3.08 3.13 3.07 3.06
( : )
2
LD,ST JAL
CPI 2
CPI LD,ST
3 Foundation Place&Route
3
64.97 ns 15.39 MHz
3 ( ) 64.97 ns
ALU
CPI
PICO16

20
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21

= =
ir [ifir - fé’ tfir \&: rwadr
> 3 > 2
JieH g
> —0 = a ~
= > & > sel5
> 8 1 o ®
= sel2 el = 0 3
> © J_ — b 1 Q
0 2 >0 i
Ea 1
1 < 1
. fdata
pcset c =<
2
> -
0 | |pc [ifec - & ['mm
1 3
+ YY
0 1
> sel3—LJ
badr
A lidata iaddress address ddataout ddatain _
Y Y Y
Instruction Data
memory memory
18
Instruction memory
Data memory
pc
ir
reg_im ir[7:0]
alu
reg_file 8 3
mux



IF(

) RE( ) EX( ) WB( )
19
I T T T T ' I I )
IF | RF | EX | WB
IF | RF | EX | WB
IF | RF | EX | WB
IF | RF | EX | WB
19
. IFRF.EX,WB
) IF
IF '
1
CPI
20
W r1
.. r1

rl

22



wu 140 | 'F | RFE|EX YYE’O
IF RF | EX | WB
LD 3, (r1) riread r3load
|F RF | EX | WB
ADDI 3, #2 13 read
20
NOP
NOP
21
LD 2, (r1) IF RF | Ex | wB
ADDI 2, #2 1= RF | EX | wB
ADD 2, 3 IF | RF EX | WB
21
21
[2]
CPI
CPI

23




CPI
ALU

22

LD 2, (rl)

PICO
22

ADD RF

CPI

23

IF RF EX WB
r2load
IF RF EX L WB
ADDI 2, #2 r2read |r2=r2+
ADD 2. 3 | F rzlfé:ad EX WB
22
LD wB
ADDI RF
ADDI EX ALU

24

18



pc set

BNEZ r3, 6 e
LDLI r4, #0 IF | RF | EX | wB
ADDI 4, #1 e
ADDI r4, #2 F | re | Ex | we
ADD r0, r2 e | rRe | EX | WB
23
23 BNEZ .
" IF
WB 3
3
3 NOP
20 30
IF RE
ALU
24
pc set
BNEZ r3, 6 IF | RF | EX | WB
LDLI r4, #0 F | RF | EX |we | +—— )
ADD r0, r2 IE | RE | EX |WB
24

25



RF

) 23
24
VerilogHDL
(MUX)
IFstage RFstage N EXstage N
N~ A
ALU
P—
‘ WBstage ’\ MUX )) :/
II ﬁ I[ =

\( Control

25

25
,EXstage ,WBstage

Control

IFstage

,Control

26

18

ALU

,RFstage



Dual Port
WB

26

WB

HDL

RF

1: module reg_file (addrl, addr2, addr3, din, doutl, dout2, req ,CLK ,RST);
2: A
3: assign doutl = ((addrl == addr3)&& req)? dinzy,
4: (addrl == 3"b000)? register0:
5: \ AN
6: (addrl == 3'b111)?\register7: "bx; .
7: assign dout2 = ((addr2 == addr3) && req)? din:i¢------]
8: (addr2 == 3*b000)? register0:
9: \
10: (addr2 == 3°b111)? régister?: "bx;
11:
12: always @(negedge CLK or negedge RST) \
13:  begin \
14: if(1RST)
15: begin \
16: register0 = 0; \
17: \
18: register7 = 0; |
19: end _‘_’_,_—: addr3
20: else if(req)
21: case (addr3) <
22: 3"b000: register0 = din;
23:
24: 3"b111: register7 = din;
25: endcase
26: end
27: endmodule
26

27




26 1 21 addr3

3 addrl  addr3
addr2  addr3 din  doutl dout2
RF WB
22
EX (reg
C) RF (reg a, reg b)
27  Control HDL

1: module control (sell, sel2, sel3, sel4, sel5, pcset, com, rwen, write,

2: b_ifir, rfir, ifir, f_reg_a);

3:

4: assign sell = (rwen && (rfir[10:8] == ifir[10:8]))? 1: O;

5: assign sel2 = (rwen && (rfir[10:8] == ifir[7:5]))? 1: O;

6:

7:

8: endmodule

27 Control
27 , EX
(rfir[10:8]) (ifir[10:8])
reg a
(fdata) sell
(rfir[10:8]) (ifir[7:5])
sel2 reg b (fdata)
22
RF
28 RF HDL

28



1: module rf _stage (rfir, a, b, rfim, badr, f reg a, ifir, ifpc, ¢, rwadr, fdata,
2: rwe, sell, sel2, jal en, jr_en, jmp_jal _en, CLK, RST);
3:
4: assign badr_out = ifpc + in_badr;
5: assign in_badr = (Jmp_jal_en)?
6: {ifir[7],ifir[7],ifir[7],ifir[7],ifir[7],ifir[7],ifir[10:0]}:
7: {ifir[7],ifir[7],ifir[7],ifir[7],ifir[7],ifir[7],ifir[7],ifir[7],ifir[7:0]};
8:
9: assign in_reg_ ir = (jal_en)? 16"h0701: ifir;
0: assign badr = (Jr_en)? f_reg_a: badr_out;
1:
2:
3: endmodule
28 RF
28
JMP,JAL ifir[10:0] 16
9
JAL,JALR in_reg_ir(reg ir) 16'h0701(16'b0000_0111_0000_0001)
alu (com=4'b0001) 7
(rwadr=3'b111) 10 JALR,JR

29




VerilogHDL
PICO16

VerilogHDL, SFL

FPGA LSI

HDL C C
(SystemC,SpecC,HandelC )
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I* top module */
“timescale 1ns / 1 ps

“define IF 1
“define RF 2
“define EX 3
“define EX2 4

module bpico(dataout,addressout,write,datain,CLK,RST,

//test pin

pc,mar,mdr,ir,regl,reg2,sell,sel2,sel3,com,req,stat,dbus, sbusl, sbus2, doutl, dout2,
aluout

//test pin end

);

//test define
output [15:0] ir, pc, mdr, regl ,reg2;
output [7:0] mar;
output [2:0] stat;

output sell, sel3;
output [2:0] sel?;
output req;

output [3:0] com;
output [15:0] dbus, sbusl, sbus2, doutl, dout2, aluout;
//test define end

output [15:0] dataout;
output [7:0] addressout;

output write;
input [15:0] datain;
input CLK, RST;

reg [15:0] ir, pc, mdr, regl ,reg2;
reg [7:0] mar;
reg [2:0] stat;

wire [15:0] dbus, sbusl, sbus2, doutl, dout2, aluout;

wire sell, sel3;
wire [2:0] sel2;
wire req, write;

wire [3:0] com;
wire [2:0] addrl; /* JAL */

33



parameter [4:0] ROP = 5"b00000,
LDLI= 5"h11100,
LDHI= 5"bh11101,
BNEZ= 5"b01001,
BEQZ= 5"b01010,
BMI = 5"b01011,
BPL = 5"h01100,
JR = 5"b01110,
JWP = 5%b01111,
JAL = 5%b01101,
LD = 5"h01000,
ST = 5"b01001,
SL = 5"b01100,
SR = 5"b01101;

/********************** not SynC CLK ***********************/

assign dataout = mdr;
assign addressout = (stat == "IF) ? pc: mar;
assign addrl = (stat == "EX && 1r[15:11] == JAL) ? 3"b111l : ir[10:8]; /* JAL */

assign sell = ( (stat == "IF)
|| (stat == “EX2 && ir[4:0] == LD)
|| (stat == "EX2 && ir[4:0] == ST) )? 1"bx:

( (stat == "RF)

|| (stat == "EX && ir[15:11] == BNEZ)

|| (stat == "EX && ir[15:11] == BEQZ)

|| (stat == "EX && ir[15:11] == BMI)

|| (stat == "EX && ir[15:11] == BPL)

|| (stat == "EX && ir[15:11] == JMP)

|| (stat == "EX && ir[15:11] == JAL)

|| (stat == "EX2 && ir[15:11] == JAL) )? 1"b0:

( (stat == "EX && ir[15:11] == ROP && ir[4:0] == LD)

|| (stat == "EX && ir[15:11] == ROP && ir[4:0] == ST)

|1 (stat == "EX && ir[15:11] == ROP && ir[4:3] == 2"b00)

|1 (stat == "EX && 1r[15:11] == ROP && (ir[4:0] == SL || ir[4:0] == SR ))
|| (stat == "EX && ir[15:11] == LDLI)

|| (stat == "EX && ir[15:11] == LDHI)

|| (stat == "EX && ir[15:14] == 2"b00)

|| (stat == “EX && ir[15:11] == JR) )? 1"bl:

"bx;
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assign sel2 = ( (stat == "IF)
|1(stat == "EX2 && ir[4:0] == LD)
|| (stat == "EX2 && ir[4:0] == ST) )? "bx:

(stat == "RF)? 0:

( (stat == "EX && ir[15:11] == ROP && ir[4:0] == LD)

|1 (stat == "EX && ir[15:11] == ROP && ir[4:0] == ST)

|1 (stat == "EX && ir[15:11] == ROP && ir[4:3] == 2"b00)

|1 (stat == "EX && ir[15:11] == ROP && (ir[4:0] == SL || ir[4:0] == SR ))
|| (stat == "EX && ir[15:11] == JR)

|| (stat == "EX && ir[15:11] == JAL) )? 1:

( (stat == "EX && ir[15:11] == LDLI)

|| (stat == "EX && ir[15:14] == 2"b00 && ir[13:12] == 2"bll)
|| (stat == "EX && ir[15:11] == BNEZ)

|| (stat == "EX && ir[15:11] == BEQZ)

|| (stat == "EX && ir[15:11] == BMI)

|1 (stat == "EX && ir[15:11] == BPL) )? 2:

(stat == “EX && ir[15:14] == 2"b00 && ir[13:12] 1= 2"b11)? 3:
(stat == “EX && ir[15:11] == LDHI)? 4:

( (stat == "EX && ir[15:11] == JMP)
|1 (stat == "EX2 && ir[15:11] == JAL) )? 5:

"bx;

assign sel3 = ( (stat == "RF)
||(stat == "EX && ir[15:11] == ROP && ir[4:0] == LD)
|| (stat == "EX && ir[15:11] == ROP && ir[4:0] == ST)
|1 (stat == "EX && ir[15:11] == ROP && ir[4:3] == 2"b00)
|1 (stat == "EX && 1r[15:11] == ROP && (ir[4:0] == SL || ir[4:0] == SR ))
|| (stat == "EX && ir[15:11] == LDLI)
|| (stat == "EX && ir[15:11] == LDHI)
|| (stat == "EX && ir[15:14] == 2"b00 && ir[13:12] == 2"bll)
|| (stat == "EX && ir[15:14] == 2"b00 && 1r[13:12] != 2"bll)
|| (stat == "EX && ir[15:11] == BNEZ)
|| (stat == "EX && ir[15:11] == BEQZ)
||(stat == "EX && ir[15:11] == BMI)
|| (stat == "EX && ir[15:11] == BPL)
|| (stat == "EX && ir[15:11] == JMP)
|| (stat == "EX && ir[15:11] == JR)
|| (stat == "EX && ir[15:11] == JAL)
|| (stat == "EX2 && ir[15:11] == JAL) )? 1"b0:
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( (stat == "IF)
|1 (stat == "EX2 && ir[4:0] == LD) )? 1"bl:

(stat == "EX2 && ir[4:0] == ST)? 1"bx:

"bx;

assign com = ( (stat == "IF)
|| (stat == "EX2 && ir[4:0] == LD)
|| (stat == "EX2 && ir[4:0] == ST) )? 4"bx:

( (stat == "EX && ir[15:11] == ROP && ir[4:0] == ST)
|1 (stat == "EX && ir[15:11] == JR)
|I(stat == "EX && ir[15:11] == JAL) )? 4"b0000:

(stat == "EX && ir[15:11] == ROP && ir[4:3] == 2"b00)? ir[3:0]:
(stat == "EX && ir[15:11] == ROP && (ir[4:0] == SL || ir[4:0] == SR))?
{1"b1,ir[2:0]}:

( (stat == “EX & ir[15:11] == ROP && ir[4:0] == LD)
|I(stat == “EX && ir[15:11] == LDLI)
|(stat == “EX && ir[15:11] == LDHI) )? 4"b0001:

( (stat == "EX && ir[15:14] == 2"b00 && ir[13:12] == 2"b1l)
|1 (stat == "EX && ir[15:14] == 2"b00 && ir[13:12] '= 2"b11) )? ir[14:11]:

( (stat == “RF)

|I(stat == “EX && ir[15:11] == BNEZ)

|I(stat == “EX && ir[15:11] == BEQZ)

| (stat == “EX && ir[15:11] == BMI)

| (stat == “EX && ir[15:11] == BPL)

| (stat == “EX && ir[15:11] == JWP)

|I(stat == “EX2 && ir[15:11] == JAL) )? 4"b0110:

"bx;

assign req = ( (stat == "IF)
|| (stat == "EX && ir[15:11] == ROP && ir[4:0] == LD)
|| (stat == "EX && ir[15:11] == ROP && ir[4:0] == ST)
|| (stat == EX && ir[15:11] == BNEZ)
|| (stat == "EX && ir[15:11] == BEQZ)
|| (stat == "EX && ir[15:11] == BMI)
|| (stat == "EX && ir[15:11] == BPL)
|| (stat == "EX && ir[15:11] == JMP)
|| (stat == "EX && ir[15:11] == JR)
|| (stat == "EX2 && ir[4:0] == ST)
|l (stat == "EX2 && ir[15:11] == JAL) )? 1"bx:

(stat == “RF)? 1°h0:
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( (stat
|l (stat
|| (stat
|| (stat
|1 (stat
|| (stat
|| (stat
|| (stat

"bx;

assign write =( (stat
|| (stat
|| (stat
|| (stat
|| (stat
|1 (stat
|| (stat
|| (stat
|| (stat
|| (stat
|| (stat
|l (stat
|| (stat
|| (stat
|| (stat
|| (stat
|| (stat

( (stat
|| (stat

“EX && ir[15:11] == ROP && ir[4:3] == 2"b00)
“EX && ir[15:11] == ROP && (ir[4:0] == SL || ir[4:0] == SR))

“EX && ir[15:
“EX && ir[15:
“EX && ir[15:
“EX && ir[15:
“EX && ir[15:
“EX2 && ir[4:

11] == LDLI)
11] == LDHI)
14] == 2°b00 && ir[13:12] == 2"b1l)

14] == 2°b00 && ir[13:12] != 2°b1l)
11] == JAL)
0] == LD) )? 1"bi:

“RF)

“EX && ir[15:11] == LDLI)

“EX && ir[15:11] == ROP && ir[4:0] == LD)

“EX && ir[15:11] == ROP && ir[4:0] == ST)

“EX && ir[15:11] == ROP && ir[4:3] == 2°b00)

“EX && ir[15:11] == ROP && (ir[4:0] == SL || ir[4:0] == SR))
“EX && ir[15:11] == LDHI)

“EX && ir[15:14] == 2"b00 && ir[13:12] == 2"b1l)
“EX && ir[15:14] == 2"b00 && ir[13:12] != 2"b11)
“EX && ir[15:11] == BNEZ)

“EX && ir[15:11] == BEQZ)

“EX && ir[15:11] == BMI)

“EX && ir[15:11] == BPL)

“EX && ir[15:11] == JWP)

“EX && ir[15:11] == JR)

“EX && ir[15:11] == JAL)

“IF)

“EX2 && ir[15:11] == JAL) )? 1"bx:

“EX2 && ir[4:0] == LD) )? 1"b0:

(stat == “EX2 && ir[4:0] == ST)? 1'bi:

"bx;

/********************** SynC CLK ***********************/

always @(posedge CLK or

begin
iT(IRST)

begin
pc <= 0;
mar <= 0;
mdr <= 0;
ir <=0;
regl <= 0;
reg2 <= 0;
stat <= "IF;

end

negedge RST)

/* Initialize */
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else

begin
case(stat)
‘IF: /**** IF ****/
begin
ir <= dbus;
stat <= "RF;
end
‘RF: /**** RF ****/
begin
pc <= dbus;
regl <= doutl;
reg2 <= dout2;
iF((ir[15:11] == ROP ) && (ir[4:0] == ST)) /* ST */
mdr <= dout2;
stat <= "EX;
end
‘EX: /**** EX ****/
begin
if(ir[15:11] == ROP ) /** R type functions **/
begin
if(ir[4:0] == LD || ir[4:0] == ST ) /* LD/ST*/
begin
mar <= dbus;
stat <= "EX2;
end
else if( ir[4:3] == 2"b00 /* ALU instructions */
|| ir[4:0] == SL /* SL */
I] ir[4:0] == SR ) /* SR */
begin
stat <= "IF;
end
end // if (ir[15:11] == ROP )
else if( ir[15:11] == LDLI /* LDLI*/
|| 1r[15:11] == LDHI /*LDHI*/
|| ir[15:14] == 2"b00 ) /* ADDI/SUBI/ANDI/ORI/XORI */
begin
stat <= "IF;
end

else if(ir[15:11] == BNEZ)  /* BNEZ */
begin
if(regl = 0)
pc <= dbus;
stat <= "IF;
end
else 1f(ir[15:11] == BEQZ) /* BEQZ */

38



begin

if(regl == 0)
pc <= dbus;
stat <= "IF;
end

else if(ir[15:11] == BMI) /* BMI */
begin
if(regl[15] == 1"bl)
pc <= dbus;
stat <= "IF;
end
else if(ir[15:11] == BPL) /* BPL */
begin
if(regl[15] '= 1"bl)
pc <= dbus;
stat <= "IF;
end

else if( ir[15:11] == JMP
|| ir[15:11] == JR ) /* JUMP/JR */

begin
pc <= dbus;
stat <= "IF;
end

else 1f(ir[15:11] == JAL) /* JAL */
begin
stat <= "EX2;
end

end // case: "EX

“EX2: [*FFEEX2 xERRS
begin
if(ir[4:0] == LD || ir[4:0] == ST) /* LD/ST*/
begin
stat <= "IF;
end
else if(ir[15:11] == JAL) /* JAL */
begin
pc <= dbus;
stat <= "IF;
end
end

endcase // case(stat)

end // else: 'if(IRST)
end // always @ (posedge CLK or negedge RST)
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mux2_1 sl (.out(sbusl),
-a(pc),
.b(regl),
.sel(sell));

mux5_1 s2 (.out(sbus2),
.a(16"h0002),
.b(reg2),
-c({ir7],ir[7], i [7],0r[7], 0 [7], 0 [7], 0r[7],ir[7],0r[7:0]}),
.d({8"b0,ir[7:0]1}),
-.e({ir[7:0],8"b0}),
Fir[10],ir[10],ir[10],ir[10],ir[10],ir[10:0]}),
.sel(sel2));

mux2_1 d (.out(dbus),
.a(aluout),
.b(datain),
.sel(sell));

alul6 alu (.ina(sbusl),
.inb(sbus2),
.com(com),
.y(aluout));

reg file rf (.addrl(addrl),
.addr2(ir[7:5]),
.din(dbus),
.doutl(doutl),
.dout2(dout2),
.req(req),
.CLK(CLK),
.RST(RST));

endmodule // bpico
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I* mux2_1 */
module mux2_1(out,a,b,sel);

input [15:0] a,b;
input sel;
output [15:0] out;

assign out = (sel == 0)? a:
(sel == 1)? b:

"bx;

endmodule

I* mux5_1 */
module mux5_1(out,a,b,c,d,e,f,sel);

input [15:0] a,b,c,d,e,T;
input [2:0] sel;
output [15:0] out;

assign out = (sel == 0)? a:

(sel == 1)? b:
(sel == 2)? c:
(sel == 3)? d:
(sel == 4)? e:
(sel == 5)? f:
"bx;

endmodule

I* regster file */

module reg file (addrl, addr2, din, doutl, dout2, req ,CLK ,RST);

input[2:0] addrl, addr2;
input [15:0] din;

input req, CLK, RST;
output [15:0] doutl, dout2;

reg [15:0] register0, registerl, register2, register3, registerd, register5,
register6, register7;
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// read
assign

assign

reg=0

doutl = (addrl
(addr1
(addri
(addri
(addrl
(addri1
(addri1
(addr1

dout2 = (addr2
(addr2
(addr2
(addr2
(addr2
(addr2
(addr2
(addr2

always @(negedge CLK or negedge

begin

if(1RST)
begin

regist
regist
regist
regist
regist
regist
regist
regist

end

else if(req)

// reset

er0 =
erl =
er2 =
er3 =
er4d =
er5 =
er6 =
er7 =

O O O O oo oo

case (addrl)

3"b000:
3"b001:
3"b010:
3"h011:
3"b100:
3"b101:
3"b110:
3"b111:

endcase

end

endmodule

register(Q =
registerl =
register2 =
register3 =
register4 =
register5 =
register6 =
register7 =

din;
din;
din;
din;
din;
din;
din;
din;

3"b000
3"h001
3"b010
3"b011
3"b100
3"b101
3"b110
3"b111

3"b000
3"b001
3"h010
3"h011
3"h100
3"b101
3"b110
3"b111

RST)

// write reg=1

&&
&&
&&
&&
&&
&&
&&
&&

&&
&&
&&
&&
&&
&&
&&
&&
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req
req
req
req
req
req
req
req

req
req
req
req
req
req
req
req

0)?
0)?
0)?
0)?
0)?
0)?
0)?
0)?

0)?
0)?
0)?
0)?
0)?
0)?
0)?
0)?

register0:
registerl:
register2:
register3:
register4:
register5:
register6:
register7: "bx;

register0:
registerl:
register2:
register3:
register4:
register5:
register6:
register7: "bx;



I* ALU
module alul6(ina, inb, com, y);
input[15:0] ina, inb;
input[3:0] com;
output[15:0] v;
wire[15:0] addsub;
assign y = (com == 4"b0000)? ina:
(com == 47b0001)? inb:
(com == 4"b0010)? ina & inb:
(com == 4"p0011)? ina | inb:
(com == 4"b0100)? ina " inb:
(com == 4"b0101)? ~inb:
(com == 4"b1100)? inb << 1:
(com == 4"b1101)? inb >> 1:

addsub;

*/

addsub16 as16 (.ina(ina), .inb(inb), .sub(com[0]), .sumdiff(addsub));

endmodule

/*

addsubl6

module addsubl6 (ina, inb, sub, sumdiff);

input[15:0] ina, inb;
input sub;
output[15:0] sumdiff;

wire c0,cl1,c2,c3,c4,c5,¢6,c7,c8,c9,c10,c11,c12,c13,cl4,cl5;

wire[15:0] bb;

fadder fa0 (.a(ina[0]),
fadder fal (.a(ina[l]),
fadder fa2 (.a(ina[2]),
fadder fa3 (.a(ina[3]),
fadder fad4 (.a(ina[4]),
fadder fa5 (.a(ina[5]),
fadder fa6 (.a(ina[6]),
fadder fa7 (.a(ina[7]),
fadder fa8 (.a(ina[8]),
fadder fa9 (.a(ina[9]),

fadder falO(.a(ina[10]),
fadder fall(.a(ina[l11]),
fadder fal2(.a(ina[12]),
fadder fal3(.a(ina[13]),
fadder fal4(.a(ina[l4]),
fadder fal5(.a(ina[15]),

-b(bb[0D),
-b(bb[1]),
-b(bb[2]),
.b(bb[3]),
-b(bb[4]),
-b(bb[5D),
-b(bb[6]),
-b(bb[7D),
-b(bb[8]),
_b(bb[9]),
.b(bb[107]),
.b(bb[11]),
.b(bb[12]),
_b(bb[13]),
_b(bb[14]),
.b(bb[15]),

.c(c0),
.c(cl),
.c(c2),
.c(c3),
.c(cd),
.c(cH),
.c(c6),
.c(c7),
.c(c8),

.c(sub), .so(sumdiff[0]), -co(c0));
.so(sumdiff[1]),
.so(sumdiff[2]),
.so(sumdiff[3]),
.so(sumdiff[4]),
.so(sumdiff[5]),
.so(sumdiff[6]),
.so(sumdiff[7]),
.so(sumdiff[8]),
.so(sumdiff[9]),

.co(cl));
.co(c2));
.co(c3));
.co(cd));
.co(ch));
.co(c6));
.co(c7));
.co(c8));
.co(c9));

.c(c9), .so(sumdiff[10]), -co(cl0));

.c(cl10),
.c(cll),
.c(c12),
.c(c13),
.c(cl4),
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.so(sumdiff[11]),
.so(sumdiff[12]),
.so(sumdiff[13]),
.so(sumdiff[14]),
.so(sumdiff[15]),

.co(cll));
.co(cl2));
.co(c13));
.co(cl4));
.co(c15));



assign bb = (sub)? ~inb:
(~sub)? inb: 4%bz;

endmodule

I* full adder */
module fadder (a,b,c,so0,co);
input a,b,c;

output so,co;

assign co = (a&b)|(b&c)|(a&e);
assign so = (a&-bé&~c)|(~a&bé&~c)|(~a&~b&c) | (a&béc);

endmodule

I* test bench file */
module bpicosim;

reg CLK, RST;

//memory
wire [15:0] memdout, memdin;
wire [7:0] memaddin;
wire write;
reg [7:0] mem [0:200];

assign memdout = (lwrite) ? {mem[memaddin & 8"b11111110], mem[memaddin |
8"b00000001]}:16"bx;

always @(negedge CLK)
begin
if(write)
begin
mem[memaddin & 8"b11111110] <= memdin[15:8];
mem[memaddin | 8"b00000001] <= memdin[7:0];
end
end

//test define
wire [15:0] ir, pc, mdr, regl ,reg2;

wire [7:0] mar;
wire [2:0] stat;
wire sell, sel3;
wire [2:0] sel?;
wire req;
wire [3:0] com;

wire [15:0] dbus, sbusl, sbus2, doutl, dout2, aluout;
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//test define end
bpico pico(.datain(memdout),
.addressout(memaddin),
.dataout(memdin),
write(write),
-.CLK(CLK),
.RST(RST),
//test pin
.pc(pc), -mar(mar), .mdr(mdr), .ir(ir),.regl(regl), -reg2(reg2), .sell(sell),.sel2(sel2),.
sel3(sel3), .com(com), .req(req), -stat(stat), .dbus(dbus), .sbusl(sbusl), .sbus2(sbus?), .d
outl(doutl), .dout2(dout?), .aluout(aluout)
//test pin end

);
always #200 CLK =~CLK;

initial
begin

$readmemb('memdata. txt",mem);
CLK <= 0;
RST <= 1;
#410 RST <= 0;
#100 RST <= 1;

#40000 $stop;
end

endmodule
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